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α4x(t) = δ(t)

β4x(t) = e−αtu(t), α > 0

γ4x(t) = e−α|t|, α > 05
δ4x(t) =

{

1 | t |< T1

0 | t |> T1��67�����������+����� !���"��#$%&'()'�*+�-#��/8*+�!�.�*+
α4x(t) = [e−αtcos(ω0t)]u(t)

β4x(t) = e−3|t|sin2t

γ4x(t) =

{

1 + cos(πt) , | t |≤ 1
0 , | t |> 1

δ4x(t) =
∞

∑

n=−∞

e−|t−2n|

��9:+�;$��+�"�/�#<��/1�+���"��-.8���,���*�!5��"���+�"!�/+.,�!�!x(t)=
α4X(jω) = 2

jω=
β4X(jω) = 1

(1+jω)n>=��#1�"?!@A�/+.,�!�!X(jω)��+�"�+.���!���!+(n − 1)��,.�*���!<1
1+jω��B=

α4CD��*!�/+.,�!�!r(t) =
∫ ∞
−∞ x(τ)y(t + τ)dτ
=1�+��+�"�/+E�"?!4>D-3,.�����+����� !F���"��#$%&'()'R(jω)�!<r(t)��G.�!��/����� !���"���H<X(jω), Y (jω)5�*+x(t), y(t)�+�����" �> I



=
β4���8E���#�"x(t) = y(t) = e−|t|>:3�H/���������������-�0,*��-�"�!+r(t)5 ,!�"��F��"0���;$�"�+�/�����������!+R(jω)>=
γ4J�*<-�"���=G45/����������!+R(jω) ,!�"����"2+��<�!+� E�!��/=�4�����1���!<�/ +#�!��<>��K=
α4:+F(x(t)) = X(ω)5#��/F������ !���"��#<$%&'()'-�"xm(t) = x(t)cos(ω1t)sin(ω2t +

θ)5G,������+F(xm(t))>=
β4:+f ′′(t) + 2f ′(t) + 2f(t) = −(δ(t + π) + δ(t − π))5G,�����!+f(t)

��LM��*x(t)�,"�*+"-#<����#<��/�,�N���"*<�?0<
x(t) =

{

1− | t | | t |< 1
0����H

α4O��,+�+��<�!+��,.�*���!<x(t)-�"-.+�+��< ,0�!�!<"1"#�!��<�!<��,��2��/5/��F���������;$>=��#1�"?!@�-3,.����!+��,.�*���!<x(t)*<.8,�"���1H�����2+4
β4������������+;$ ,!�"����"2+��<�!+1�H��,!��,.�*���!<x(t)

γ4������������+;$ ,!�"����"2+��<�!+"1#�!���!<�/+E�"?!<=��#1�"?!@8�*,�����#�"!
x(t)
E �"�,�E�8�"��#�!�/+E�"?!1H��!�.�*+4
��PA����1�<��E+�QR:�H��!����+�"x(t) = 10+2δ(t−2)+ sin(2000πt)

πt
-�"!��#-,"�!�/ +#�!��<��/�/��0����<��+�"

H(jω) =

{

10 | ω |< 1000π
0 | ω |> 1000π=

α4������������;$X(jω)=
β4R,!�"����"2+��<������E�������/=�45�-3,.�����;$Y (jω)�!<�?#1�/��/QR:�/F��0����<����#-,"�!H(jω)5#��+��!+����1��3�,�#��/�����0��x(t)=
γ4R,!�"����"�������+�+����,�3������ !���"��#$%&'()'�"�+�G,�����!+y(t)

��SM+��/+� �H< ,#+�/QR:E �"-,�/��"-0��#-,"�!
h(t) = δ(t − 3) − e−7(t−3)u(t − 3)

α4�����������!+��#-,"�!�/ +#�!��<��/�/��0����<>
β4T �1".������E�,�-�"�!3.�!�!<��#-,"�!<�/ +#�!��<=R,!�"����"0�������,"G.���+;UVWUX4
γ4�����������!+E?�1���/�/��0����<5�+�3�,�#��/����!+����1����0��

x(t) = 7 + 7cos(7t + π2)
=I>
I
4

Y



��Z[-,�/��"-0��#-,"�!�+#<QR:�/��0����<1�+���"��#�!� E�!
h(t) = δ(t) + 5e−7tu(t)

α4�����������!+��#-,"�!�/ +#�!��<��/�/��0����<-�"� �1".����!>
β4O�"��/ +#�!��\�+"� H�"\��,"��#��,����H��!��]T���"��/ +#�!��5�����,.�*+���/�E�,�/�!<��#-,"�!<���,+�"���"�#�!<�E�"��!<�"�0<]=A�/ +#�!���/�0�+�3E,���"-�"*<3dB�/ +#�!��51"#�"��dB-����-�510log | H(jω) |25!��#-,"�!�-����+�"̂>_

I
dB�"-,#��,!��#�!+�E�"��!�"�0>4

γ4O�".��+�"!E?�1�<�+!����1�<��+�"!
x(t) = 1 + 2cos(100t)

=I>Y4
���̀M+�QR:�H��!����,"�,.3���"��#�!+��,�-.�*1"�3�,"-0�?��*�!

d2y(t)

dt2
+ 6

dy(t)

dt
+ 8y(t) = 2x(t).�����������!+-,�/��"-0��#-,"�!��/�/��0����<>

����8�*,���������,�-.�*�H��!�����+.1,��!��/����������"��#1H�QR:�/��0�����*+����*+!��"��/,����-3,.N���"�E������"<��,�-.�*1"�3�,"-E<�?"�2��"<

x(t) y(t) 

S1 :
dy(t)

dt
+ y(t) = x(t)

S2 :
dy(t)

dt
+ 2y(t) =

dx(t)

dt
+ x(t)�����������!+��#-,"�!�/ +#�!��<��/�/+��"-�H�/��0����<-�"� �1".����!���!G�08�"��!<;UVWUX>:+��!+����1�E �/���!+G!���"-0�/+.,�!�!5/����������!+E?�1���/�/��0����<=G!���"-0��#-,"�!4>T �1".������a(b&c(de���H��!��-�"��"G�G�"2���������+#<5#�"�+���+�"-�����0��/�������/+��"-#�H��!����/�,�-H���"5!E?�1�<��,��E+�"!�1"�>^



v in(t) v(t) 

���6f���,�-.�*-H-�*�����!1��1�g)d)'��������E+�+"1�+"-#h��"1"��0>T �1".����!+E?�1���/-/-�2����<-�"/�����������+;$�!<�?#1�/#��+!�.�!�"�#1�/1�+���"��#�!� E�!
vin(t) = (t + 2)u(t + 2) − 2tu(t) + (t − 2)u(t − 2) V olts-�"!���!��!+E?�1���+�"

v(t) =

{

vin(t) , vin(t) < 1
1 , vin(t) ≥ 1M��*#�"!h��"1"��E+!E?�1�<��,+.�"�E����#E+�QR:��/�����/!��#-,"�!�/ +#�!��<��+�"H(jω) = jω>T �1".����!+E?�1#��/5y(t)

H(jω) 
v(t) y(t)

���9i"���,"�1"-0�/+.,�!�!-,�/��"-2+����2+=j)'(%k(l(bj&cm)n'o(d4�,�N���"��#��+�H��
x(t) =

∞
∑

n=−∞

δ(t − nT0)

=
α4T �1".������0���"�−3T0 ≤ t ≤ 3T0=
β4O�"���+�"!G��"-0�/ +#�!��5ω05�+T0 = 10>R,!�"����"������!+�"�!T0 = 10�"���/�#��"��/���,*�0����=
γ4������������/<�/+������E<�!<��",.<$%&'()'ck5��!+�+���,.����!

x(t) =

∞
∑

k=−∞

cke
jkω0t

=
δ4T �1".�����3.�����/�0����<�"�−4ω0 ≤ ω ≤ 4ω0=
ε4:+!�/+.,�!�!x(t)��+�"!����1�<�+#<�/��0����<����#-,"�!�/ +#�!��<

H(jω) =

{

e−4jω | ω |< ωco

0 | ω |> ωco��ωco = π/T05��"���+�"!E?�1�<��/�/��0����<]p



=
στ4:+ωco = 3π/T05��"�!E?�1�<��!+��,���*�!�/�0]���Bq,�����!+G��"-0��,��1�T-�"�!G��"-0�/ +#�!��ω0

��/��,�-.�*�0����<-�"/������F�����/�/+�����E<ck
�!<�+�����" !<��",.<$%&'()'>D-3,.������0��*<��",.$%&'()'>R,!�"����"2+��<����,"G.���+;UVWUX5� �1".������0����/�,�-H���"�"�5, 15, 250�,F

t

x(t)

A

A/2

T/2−T/2 T−T

……

��+"-E<=�/+������E<4-�"�"�A = T = 1>���Kq,�����"<��",E<$%&'()'�*+��,�-.�*��,"�1"-2+�/+�,�0��*+����,��1�T = 2π

=
α4f(t) =

{

0 t ∈ (−π, 0)
1 t ∈ [0, π]

=
β4f(t) =

{

0 t ∈ (−π, 0)
t t ∈ [0, π]

=
γ4f(t) =

{

−t t ∈ (−π, 0)
t t ∈ (0, π]

f(0) = 0

=
δ4f(t) =

{

−1
2 − t

2π
t ∈ (−π, 0)

1
2 − t

2π
t ∈ [0, π]T �1".�����!;UVWUX���0������/�,�-H���/+ ,!�"����"2+��<25�/+������E<>

r


